CDHRTED —J (SHyrOEvYAR) O¥=FIFIT7aOvoOBES(E1270v D)

D E & i = 2 3 sy | afa| e iR
1 8= - 125 SAIVT - LETZR 6 - 1 O - 6|1 2 | 46.15%

2 WHE « K& ALTC 6 O - 6 O 83| 769%

3 vy == Bl 11 ==, =DF* O| 6 -0 2 1 1 |100.00%

@ K % B =B 2 3 pegg | BRI Eve= (IEm
1 n0E - Fig(8) TOPHMAE « ¥ALIR 1 - 6 1 - 6 O 83| 1429%

2 AHB-EBE 2040 1 4 - 6 1 2 | 5882%

3 G5 - &5 PILV k=L « kLR 116 - 4 2 | 1 | 7059%

©) E % Bl B 2 3 pegg | BRI Eve= (IER
1 Eig - HE BDR 1) — 1 -6|16 - 211 2 | s667%

2 SR « BN ZDF% 1 6 - 1 2| 1 |8571%

3 PR - EES 24T e ST 6 1 - 6 O | 3 |2000%

@ E & i = 2 3 sy | afa| e |iER
1 AR « f&FE HANR » D10 - - O |RiZ]| #Dv/0!

2| g - mEE SEEKERs e - ol 2| 1 |mumnn

3 W - SN 2040 2 - 2 @) 2 | g

® K % B =B 2 3 pegg | BRI Eve= |IEm
1 BB « KK VR YR« PILR k=L 6 - 0| 5 - 6 1 2 | 6471%

2 Bt . I 2040 6 2 -6 | O 3] 1429%

3 FE-B AT e SAIVT 5|6 - 2 2| 1 |6316%

® E % Bl B 2 3 Begg | BRI Eve= |IER
1 EX - S8 AR 2 - S - 1 1 | ganan

2 INAK « #7355 X010 2 - 1 2 | punnn

3 2hg « AU = DF* - O |mig| #ansn

@ E & i = 2 3 sy | efa| e iR
1 L) - 238 DTIT A e I )— 6 - 0| 3 -6 1 2 | 60.00%

2 SR« A o) - 6 1 -6 | 0| 3| 769%

3 S1E(BR) - SlF =X RyE G 3 6 - 1 21 1 | 75.00%

K % B =B 2 3 pegg | BRI Eve= (IEm
1 S - ZBA SAIVT « BITIED 6 - 4|10 - 6 1 w%zq 37.50% | 3

2 i « pE X040 6 6 - 3 1 w%# 5263% | 2

3 8%« =8 LEF=2 - S5IVP 0|3 -6 1 [rge] eooox | 1

© E % Bl B 2 3 Begy | BRI Eve= (IER
1| \8@ - \s0@ SAIVT 5-6|6-2|1 e sr80%|1

2| FENW) - PEE) | 2DV LCTA 5 5 - 6 | 1 e s000%

3 B - 526 LET =2 » TEAM-K 6|6 -5 1 e 4211%




Q@EET — AREUET — ADGHE+-EAMEDT —LAGHE)
@ZNTERFSBRNESIE. QSMO—ADILIL—ILERALET,

K % i B B | IERT| EvSE |IEfT
1 ahtE « % ZDFH 2 | 1 | 7059%
2| ?usAER) « KRR 2040 O | 3 |2500%
3 BH -« F)I SAIVT - BORK 1 | 2 |5333%
@) K 2 i B B | ERT| AUSE |iEf
1 M (1) « H /8 SEEKERs 1 | 2 | 52.04%
2 BT - 1BIF SAIVT A4V D 2 | 1 |e000%
3 &R« PN (E) GTC » TOPHMLE O | 3 |3684%
(B E % P = B | lafr| EvsE |iEh
1 BH « PRH(E) 2D O | 3 |4000%
2 B - KE PILNY k=L 21 1 | 7059%
3 AU - LETZX 1 | 2 | 4000%
S =T DIBRIDRETIE
DS
QBEXIEOBE



